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Quiz Continuity and Limits 2018 % 5i | Name ‘ [ f E,j k ﬁ \ ;

Introduction to Calculus

Indicate the type and locations of any discontinuities in the functions below.
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For questions 8-9 fill in the blank with the choice which describes the function at the point indicated.
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A — the function has an Asymptotic (or infinite) discontinuity [ 'j i

R — the function has a Removable (or point) discontinuity -2 7 - 5 57 =33

J — the function has a Jump discontinuity ‘
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Find the following limit. Circle the correct answer AND show work whenever possible.
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Find the following limits. Circle the correct answer AND show work whenever possible.
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